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QUESTION 1

A customer needs to manage and extend their data center network into VMware Cloud on AWS and Microsoft Azure

Cloud.

Which VMware product should the customer use?
A. NSX Cloud

B. NSX Intelligence

C. vCloud Director Extender

D. vRealize Network Insight Cloud

Correct Answer: A

Reference: https://www.vmware.com/products/nsx-cloud.html

QUESTION 2

Given this exhibit:

[J Name D Sources Destinations Services  Profiles Applied to Action
Block 5SH Traffic (1) Category: LOCAL GATEWAY &
Block SSH Any App-Servers SSH None TO-GW-01 Drop w &
DB-Servers
- Web-Servers

Which statement is true about the firewall rule?

A. Itis a distributed firewall applied to App-Servers, DB-Servers and Web-Servers that rejects traffic on port 22.
B. It is a gateway firewall applied to a Tier-1 gateway that rejects traffic on port 22.

C. Itis a distributed firewall applied to App-Servers, DB-Servers and Web-Servers that drops traffic on port

22.

D. Itis a gateway firewall applied to a Tier-0 gateway that drops traffic on port 22.

Correct Answer: C

QUESTION 3

A customer needs a solution to provide Layer 2 connectivity between vSphere and KVM hypervisors. Which VMware

solution should the customer use?

A. NSX Service Mesh
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B. NSX Cloud

C. NSX-T Data Center
D. NSX Intelligence
Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.3/com.vmware.nsxt.install.doc/ GUID-
A1BBC650-CCE3-4AC3-A774-92B195183492.html

QUESTION 4

Which component is required to use VMware Distributed vSwitches (vDS)?
A. VMware NSX-T

B. VMware SD-WAN

C. VMware Identity Manager

D. VMware vCenter Server

Correct Answer: A

Reference: https://www.altaro.com/vmware/vsphere-distributed-switch-guide/

QUESTION 5

Which plane in the NSX-T Data Center Architecture is used to create, read, update, and delete (CRUD) operations?
A. Local Control Plane (LCP)

B. Management Plane

C. Data Plane

D. Central Control Plane (CCP)

Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-NSX-Data-Center-for-vSphere/6.4/
com.vmware.nsx.troubleshooting.doc/GUID-88BA25EC-126B-41EE-9F06-BD6235C9EC77.html
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